[FRESERAH #HEXR: AR OHEATIHKRSE]

2hr B
FEARASE R R i A (1 micoX)
(20 ET) |20 #8~60m | 60mi#E~100 | 100 ~200 2001
— 5K 2, 76 0 150H 170H 190H 210H
NI ST K 1TmicoX46M
FRHEDERE
(FH2MASDFEARAEN70M(1MNAISM)DBEE
EARFEAH(20m) = 2, 760H
FB@FE AR (40m) @150 x40m= 6, 000H
BaaFEAR(1om) @170 x10m= 1, 700
HER (2, 760M+6, 000A+1, 700M) X 10%= 1, 046H
& 11, 506

& A

[FREFAH HER: AR OREHFTHRKESE]

ArAB»)
FEAPE AR e A (1 micoX)
(10mET) | 10m#8B~30m | 30 ~50m | 50 #B~100 100 AR
— TG K 1, 380 150H 170H 190H 210H
NI SHE 7K 1miZox 4 6H
FERHDOHERE
BN 1A DOFERAENIEMDEE
EARFEAH(IOM) = 1, 380MH
FB:@FE AR (20m) @150 x20m= 3, 000M
tB@FE ¥ (5m) @170 x 5m= 850M
HER (1, 380M+3, 000 +850M) X 10%= 523H
& Hi 5, 753H
[FKEFERH HER: AR-HHEAHRKREE]
(2m™A )
HAAE R e R (1 micHoX)
(20 ET) |20 #B~60m | 60m#E~100 | 100mi#E~200 2004
— TG K 2, 86 0 143H 154H 165H 176H
IR IR 5K 1mizo>&132H
FERHDOHERE
HHeMrALDFERAEN70M(1MAISEM)DEE
EARFEAH(20m) = 2, 860M
FB@FE AR (40m) @143 x40m= 5, 720M
tBAFEAR(1om) @154 x10m= 1, 540H

HER
A

(2, 860M+5, 720M+1, 540M) x 10%= 1,012H

=) 11, 132H
[F/KEFERAH HEFK: AR -FEHFHGKXE]
1A A
HAAE R i HE (1 micoX)
(10mET) | 10m#B~30nt | 30m#E~50m | 50m#B~100 100 A
— G K 1, 430 143H 154H 165H 176H
I SR {5 7K 1mizo>&132H
FRHDOHERE
BH1MARDERENIEMDIGE
EARFEAHOM) = 1, 430M
FB@FE ¥ (20m) @143 x20m= 2, 860M
FB@F ¥ (5m) @154 x 5m= 770H
HER (1, 430M+2, 860M+770H) X 10%= 506H
=} 5, 566H

=]




